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Answer all questions in this section.

1. (a) A teacher uses a database file to store the information about his students.
The file has the following structure:

()

Field

Data type | Data length Description
11D character 8 Student identity number
Name character 25 Name of student
Testl - integer 3 Marks on test 1
Test?2 integer 3 Marks on test 2
Test3 integer -3 Marks on test 3
|Totaltest |[integer 3 Total marks on tests 1 to 3
Exam integer 3 Examination marks
Grade character 1 Grade based on average of
all marks

‘The teacher inputs marks and grades to the database file after each test or

examination. At the end of the school term, he finds some preblems in the
file design. Identify fields that are redundant and explain why the fields
are redundant.

(4 marks)

The teacher would like to add a field that will store the talent of the students
(e.g. special skills, strengths, personal interests, etc.) to the database file.
The teacher cannot decide whether the field should be declared a character
type or a-memo type. Compare the two data types and recommend the
most suitable data type for the teacher to use.

(4 marks)

A student ‘p'repares ‘a presentation using a graphical presentation software.
There are twenty slides in the presentation.
other and the presentation is rather dull.

Twenty slides appear one after the
Suggest FOUR features of a graphical

presentation software that could be used to make the presentation more
interesting.

(4 marks)




[image: image2.png]- (a) Headers and footers are often used in documents produced usrng a word

processing software. - Explain, with an appropriate example, the purpose of
usmg these features

(b) John uses a word processmg soﬁware to write a letter to hrs friend. The
letter descrrbes three places he v1srted durmg hls summer hohday

(r) All three places he v1srted were beautlful but he does not want to use
the.same word "beautiful" to descnbe them. Suggest a feature of the
~ word processing software that can help him to solve this problem.

(ii) He drscovers that he has mrsspelled the word "happyly" many times in

his letter. Suggest a feature of the word processing software that can
easily make all the eorrectrons :

(4 marks)

4. Bad habits in usmg computers can cause health problems related to posture and
the eyes. : :

" (@) For each of the two health problems, explam brreﬂy wrth examples how the
problem caused by bad habits in using computers.

(b) Suggest TWO design features of a visual display unit that can help prevent
health problems related to using computers.

(4 marks)
5. Suggest what Tiiternet resources can help m the following cases:

(a) Because of serious illness, a student is unable to attend lessons at school.
Instead, he must have lessons at home. His teacher wants to arrange
interactive lessons for him to take place srmultaneously with the lessons for
hls classmates at school

(b) A student 1s workmg on a research pro_)ect and would like to survey pubhc 7
opinion on ‘the research topic. He does not want to conduct direct
interviews with the public.

(4 marks)




[image: image3.png]6. The following warksheet shows the quarterly income and expenditure of'a

4t quarter 240000 29000 50000
Rentper quarter | 80000

Profit share of Director A 03

Profit share of Director B | 0.3

Profit share of Director C 04

A formula, "BB“ZI—CZ’-"DKZ—BQ‘, is :ehté?xfeﬂ mcellEZ‘ to calculate the quarterly profit
of the company. Copy the formula to other cells in column E to calculate the
profits for the other three quarters.

. Another formula, B9*SUM (E2: E5) is entered in cell E9 to calculate the profit
~ share of Director A for the year. Copy the formula to' cells E10 and E11 to
~ calculate the profit share of Directors Band C.

~ After all formulas have been entered and copied to the appropriate cells, the
figures showing the profits for the 2™, 3, 4" quarters and the profit share of

. Directors B and C are wrong. There must be errors in the formulas in cells E2

~and E9. Identify the errors and suggest appropriate corrections to the
worksheet. -

o 4 méfks)
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(@) A warehouse manager would like to computerize the inventory control
system in his company. He can either purchase a ready-made application
package or invite a consulting firm to develop an application. Give ONE

“advantage of each option.

(b) The company has two warehouses. The manager would like to connect the
computers, installed in the two warehouses 'via a telephone line. Draw a
diagram to show the necessary components and links.

(4 marks)

(a) "It is possible to have an input method in which each Chinese character can

be inputted into the computer by pressing exactly two single keys on a 101-

- key keyboard." Do you agree with this statement? Give ONE reason for
your answer. - '

(b) Give ONE advantage and ONE disadvantage of using voice recogmtlon
technology in Chmese character input.

(4 marks)

Billy is doing a project on "The impact of computers on education today." He
wants to search for uséful information from the web sites on the Internet. He
enters the keywords "computer impact” in the search menu of a browser. The
web sites w1th the exactly matched keywords are drsplayed on Billy's computer
screen.

(a) Give TWO dlsadvantages of searchmg web sites by exact keyword
matching. '

(b) The web sites that Billy found are different from those his classmates found
even though they are using the same keywords to search. Give TWO

possible reasons for this difference.

(4 marks)

END OF SECTION A
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Answer all questions in this section.

10 AIRFARE. DBF is a database file stormg information about the direct air routes
~and the fms chuged by an'linc companies between cities. - '

AIRFARE,.DBF . |
Field|  Field name .| Field Type |Field Width Description
- 1 JA._CODE ' ' {character 2 Code of an airline company
| 2 CCﬁ)DkEé.V_DEP.:_ |character | 3 |Code of a departure city
3 ' CODE_ARR‘ character 3 [Code of an arrival city
4 | AT RFARE  |integer 5 Airfare for a direct route

For example, Fun Airlines has a direct route from Hong Kong to Tokyo with a
fare of $3000. In the database file, the record stores " FA", "HKG", "TKY" and
"3000" in the corresponding fields.

(a) Write SQL/command statements for the following queries:

(i) List the A CODE of all airline companies that have direct a1r routes
flying from HKG to TWN.

| (i) Find the cheapest airfare and the airline company which charge that fare
for a direct air route from BGK to BEI.

(iii) List the A_CODE of all airline companies that do not have a direct air
route to LON.

(12 marks)




[image: image6.png](b) TAX.DBF is a database file storing information about extra landmg tax of

cities.
TAX.DBF e et e ot S
Fleld Fleld name | Field Type|Field Width| -~ - Description
1 |CODE character 3 City code
2 |TAX ~ Jlogical | 1 .F. if no extra landmgtax for
| RO (R alrplanesand .T. if there.is an
- Jextra tax for planes to land

erte the SQL/command statements that find the number of dlrect a1r routes
which require an extra landing tax. SR ~

(8 marks)




[image: image7.png]11. A .company sells different blends of tea (Supreme, High Q, Ordinary and Low)
by mixing ingredients, X, Y and Z, in certain ratios. These blends and the
ratios are recorded on the following worksheet.

{ - | X 1Y) Z| Costperkg Qty sold ¢kg) | Price per kg
Supreme 21211 : 20

High Q 2111 20

Ordinary 1 [ 2] 1 35

Low J 1 {1712 350

Costperkg |24 |18 8

Profit rate
Total profit

(@) Mr. Wong, the company’s manager, wants to use the worksheet to display

(b)

the cost of the different blends of tea. A formula is entered into cell E3
and then copied to cells E4 to E6. The cost is calculated as follows:

+2x18+1x%8
2+2+1

Cost per kg of Supreme Tea = 2x24

Write the formula that should be entered in cell E3.

(2 marks)
The quantity sold for Supreme, High Q, Ordinary, and Low is 20 kg, 20 kg,
35kg and 50 kg respectively. A decimal number is entered in cell B9 to
denote the profit rate of tea. The price is calculated by multiplying the cost
by (1 + profit rate). The total profit of tea is recorded in cell B10.

Write the formula that should be entered in cell G3, and cell B10.

(10 marks)




[image: image8.png].-(¢)y Mr: Wong likes to show the costs of different blends of tea by using charts.
Describe the steps that he has to follow to create the appropriate charts.

(4 marks)

(d) M. Wong needs to enter a formula in cell B10 to calculate the total profit.
Suggest measures that he could use to verify the accuracy of total profit

. (4 marks)




[image: image9.png]12. The servicesvpro,vwided_ by ABC Company are creating and designing homepages.
The homepages often include multimedia resources, such as graphics files, audio
files, video files, etc. : . :

(a) Name TWO input de\}ices, other than a keyboard énd a mouse, that should
be installed in the computer system of ABC Company. Explain briefly
why the two suggested devices should be installed.

(2 marks)

(b) (i) Suggest ONE commonly used portable storage media with large storage
capacity for the Company to permanently store individual customers’
homepages.

(ii) Suggest ONE method that a éustomer in another country can test the
designed homepages without the Company having to send him a copy.

(2 marks)

(c) The manager of ABC Company has decided to purchase the following
software packages:

B  Desktop Publishing
B Presentation Graphics
B Multimedia Editing
E  Project Management

Explain briefly how these software packages will be useful to the Company.

(4 marks)
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(e)

)

“The Company will use a homepage—desrgn software package to develop the
customer’s homepages. The homepages’ ‘are’then posted to the web sites of
the customers. If the customer does not have a license for the software
package w1ll he be in v101atlon of the copyrlght laws? Explam ‘

(2 marks)

Will there be a copyright violation if a person downloads the customer's

 homepages for future use? Explain,

(2 marks)

A golf club asks the Company to desxgn a homepage that include a booking
service using the Internet. However, the club manager is worrled about the

: foﬂowing two poss“ble mp’ut errbrs .

(i) The members' numbers range from MOOOl to M9999. Members may

(2)

)

input incorrect members' numbers.

(n) Members may 1nput the 1ncorrect dates and tlmes for thelr bookmgs

Suggest TWO methods to improve the accuracy of the data mput
o ¢ marks)

Name TWO pieces of information about the web srte that are needed to
update the customer's homepage. .

: (2 marks)
A customer wants to use "home.123ABC456.com.hk" as the address of his
web site. However, he cannot use this address. Give ONE possible

reason why the customer cannot use this address.

(2 marks)

END OF PAPER




